Test Booklet Code & Serial No.

JYTIAhT hIS o HHT A

Paper-I1
POLITICAL SCIENCE

Signature and Name of Invigilator Seat No.
1. (Signature) .......ccccecveeeeveeeieennieeeieens . .
(Sig ) (In figures as in Admit Card)
Name) ....ccoovveieiieeiiieeeieceeeeceenn
( ) SEAtINO. .
2. (SIgNAture) .....ccveveeeeeeeeeeereeeereeieeenn (In words)
(NAIMIE) oo OMR Sheet No.
MAR - 15223 (To be filled by the Candidate)
Time Allowed : 2 Hours] [Maximum Marks : 200
Number of Pages in this Booklet : 48 Number of Questions in this Booklet : 100
Instructions for the Candidates Termeatarst HETATAT T
1. Writ}:} ytour S%eta}f.No. and OMR Sheet No. in the space provided 1. Teeft= STTae oTeH SHE O mw I forgme.
on the top of this page. s o Ry e . A
2. This paper consists of 100 objective type questions. Each question :
will carry two marks. All questions of Paper II will be compulsory. 2. HeX TR 100 E@Whﬁ T 3TRA. eI TP S T
3. At the commencement of examination, the question booklet 3T|%T-[ a Wqﬁ%?ﬁ?{‘qﬁ‘m‘{:ﬁg‘ﬁ@[ 31fard e;ﬂ%‘
will be given to the student. In the first 5 minutes, you are 3 e & AR faeneaten yyatT et SEa. W
requested to open the booklet and compulsorily examine it as ’ fri & ; 7
follows : 5 il X SEES }
@ To have access to the Question Booklet, tear off the AT 9ereAnd.
paper seal on the edge of this cover page. Do not accept @) YYAUTAHT STSTATHIS! JUTheR ATeeicl Hiet SISTd.
a booklet without sticker-seal or open booklet. et el foran il Seeeel YITIERT SeTE T
@) Tally the number of pages and number of questions in . 4
the booklet with the information printed on the cover (@) & TR TR T ) QQ. b TR 1{@
page. Faulty booklets due to missing pages/questions T eI ThU JeET e T&dlegd TR,
orhqu(iistions repea;ed ltzlr notbin serial dorde; or any ‘{@W ST/ T9T ST/ qeET Wﬂ'{ 9
other discrepancy should not be accepted and correct eI TR amﬁmmm
booklet should be obtained from the invigilator within Wﬂ’a
the period of 5 minutes. Afterwards, neither the Question 5 <I¢ E! T ETRTel WA qE {i geTafreh HITEA
Booklet will be replaced nor any extra time will be TS, TR TYTATRT IGe[T THeeUR ATeT Ted deeel
given. The same may please be noted. Elceul THeUR 8l ar=it Exp! Taneat Ae =re.
(@ii) After this verification is over, the OMR Sheet Number e AT ‘TT%_*:I'FTW  ERIEED
should be entered on this Test Booklet. (@) = e ) ¢ b "
4. Each question has four alternative responses marked (A), (B), 3?'@3""-{ Faf>reh = For fererem.
(C) and (D). You have to darken the circle as indicated below on 4. Tk YIS (A), (B), (C) sfor (D) 391 9R faemeq Sw feeh
the correct response against each item. 3TMRd. TTdel T AT ThTAT Wil SITaTqHTol 33k qor
Example : where (C) is the correct response. e/ Forea wET

@ . @ I : R (C) § A IW 3THA W
5. Your responses to the items are to be indicated in the OMR @ . @

Sheet given inside the Booklet only. If you mark at any place .
other than in the circle in the OMR Sheet, it will not be evaluated. 5. RIFEEE EERISIES IS 3‘}‘1‘?3‘“ mm

6. Read instructions given inside carefully. TR oot fefeciel SW aursedt STuR Tei.

7. Rough Work is to be done at the end of this booklet. 6. 39 ﬁﬁwwmﬁmm

8. If you write your Name, Seat Number, Phone Number or put 7. YU =T a2 SSaedl S I=g1 IS e Y HIa.
any mark on any part of the OMR Sheet, except for the space 3. SR S0 Sﬁ@ AR TR Fore SRS TR FIe
allotted for the relevant entries, which may disclose your qa. TG SHIF, B TR FRaT sl T aTef FEE T
identity, or use abusive language or employ any other unfair ’ ’ . .
means, you will render yourself liable to disqualification. W GG ST ST ST+ T TR mw Terte

9. You have to return original OMR Sheet to the invigilator at the Ferersl Fhears feneaten wier s atfevard Jga.
end of the examination compulsorily and must not carry it with 9. TN HYeR ety Hos a0 JUH.SAR ST THIETRIhS
you outside the Examination Hall. You are, however, allowed T IO 3T 3. a1 ,W"Iﬁ'%"la 3?[1@3‘-]11 B GCIEE S
to carry the Test Booklet and duplicate copy of OMR Sheet on ‘@?ﬁ'ﬂ Tq STYATeRIeR 1Ay faaneat=n wart 3R,
conclusion of examination. 10. w5 Fresa fora e atel S9=TS 99K 4.

10. Use only Blue/Black Ball point pen. . o e 3
11. Use of any calculator or log table, etc., is prohibited. 11. 3 il .

12. There is no negative marking for incorrect answers. 12. W SEREIC TOT SR ST SITOTR e




MAR - 15223/11—A



MAR - 15223/TI—A

Political Science

Paper II

Tt feormm
gyarent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. €@ YA e

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

Which of the following statements

is not true ?

India views BRICS forum as a

platform :

(A) To promote economic growth

within the group
(B) To develop close strategic

relations among the member

countries

(C) To address food and energy

security concerns

(D) To prevent increasing U.S.

dominance

Which of the following is not an
element of India’s ‘Act East’ Policy ?

(A) Cultural relations
(B) Nuclear co-operation
(C) Economic relations

(D) Connectivity

EcATAdeh! hivd faem sek e ?
fSleRe TeThe YR I SIS WO
qrEdl ?

(A) T 2Tfieh farehraTet =T <om
IS

(B) WYHE QMW GUIH wEward fehes
el eI SIS

(C) 3T 0T o1l YR&r=A Fear= fa=ar

N oY
nldld o{IHddlo

(D) AATETT aedl g9 JEvar
IS

TTATAeh! hIvaT Fesh WRATAT ' 3
R UROE Y AR 2

(A) HiEpfas Hay

(B) oTfvas wgsr

(C) smfdish Haehrd

(D) TARVERUER SISl ST

[P.T.O.



3. Which of the following pairs is not

correctly matched ?

Column 1

(India’s Neighbouring State)

(@)

®)

©)

@)

@

@

@)

@

@A)

B

©

(1))

China
Bangladesh
Myanmar
Pakistan

Column II
(Pending Dispute)
Trans-Karakoram Highway
Teesta River Water
Exclusive Economic Zone
boundary
Sir Creek
@)~
6)-@2)
-3

(d-@)
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TeTedeh! I SITEt sSRIeR e3acial!

2

(@)

)

(c)

(d)

(1)

2)

3)

(4)

(A)

(B)

(&)

(D)

wWa I
(STATET PSR 29)
=4
EIEIEN
R
ElETSIES

Wy II

(7 geeten fqam)

- HRRRA TG
e TS aoft
el i el ice|
W Erel
(a)—(1)
b)—(2)
(c)—3)

(d)—(4)




4.

Which of the following pairs is not

correctly matched ?

Column I
(India’s Neighbouring State)
(@) China
(b) Pakistan
(¢) Nepal
(d) Bhutan

Column II
(Pending Border Dispute)
(1) Aksai Chin
(2) Trans-Karakoram Highway
(3) Kalapani Border
(4) Arunachal Pradesh Border
(A) (a)<1)
(B) 6)—+2)
(C) (e)—3)

(D) (d)—4)

MAR - 15223/TI—A

TeiTeTdeh! IV SITEl sRIeR S[eaciel
A& ?
Wy I
(MATET PISTRT 297)
(@ ¥
(b) difeREa™
(c) Ul
(d) dH
w11
(F geoen d@mr faare)
(1) =R ==
(2) TFE-HRHNA FEER
(3) hIeTdHT HiH
(4) oTEUTSA TR HH
A) (a)~(1)
B) 1)—~(2)
(C) (©—3)

D) (d)—4)

[P.T.O.



The “Comprehensive Economic Co-
operation Agreement” (CECA) was
signed to boost bilateral ties between

India and :

(A) Singapore
(B) Myanmar
(C) Malaysia
(D) Vietnam
Assertion (A) :

The changed global scenario after
the end of the Cold War made it
imperative for India to build up

sound relationship with the US.
Reason (R) :

Pakistan factor no more governs

India’s foreign policy.
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false
(D) (R) is true, but (A) is false

MAR - 15223/11—A

" ey 371 HeswmEEl ' (CECA)
Bl YA <hIUTcAT QRGO Shedl ?
(A) TR

(B) MR

(C) HART

(D) fua™

fagam@m Q) :

SIS IgeTcted] ST IR
ARATAT STHRHIN T8 FEIRU TRoiw

(A) (A) o1 (R) Tt SR 3T AT

(R) § (A) ¥ Irg TR0 378

(B) (A) 37T (R) ST sRIeR 3Ted, T
(R) B (A) = I IR0 e

(C) (A) IR 3118, 90T (R) B I 378
(D) (R) =R 318, 907 (A) & I 318




Assertion (A) :
India-China relations are extremely
complex today.

Reason (R) :

India and China have common
interests at the WTO; their bilateral
trade has grown rapidly in the past
decade, and they also have pending
disputes over thousands of kilo-

meters of border.
Codes :
(A) (A) is true, but (R) is false

(B) Both (A) and (R) are true, but
(R) is not the correct reason

of (A)
(C) (R) is true, but (A) is false

(D) Both (A) and (R) are true and

(R) is the correct reason of (A)

MAR - 15223/TI—A

fagam Q) :

ST YRA-<1H FaY 3T Slfed WEar

3T

T (R) :

YR 3701 <=4 I SITfaeh SR Seed

T feqaeay TRd; Tod SRS

il fEuefid =R M ded 3R

10T SreTHeY B9 fohairH e Siiae

q geord foare smea.
PP
(A) (A) SR 318, 997 (R) & I 3R

(B) (A) 371 (R) TIa! ek 3Ted, 0T

(R) § (A) ¥ I4r7g T&EIe{0 M@l

(C) (R) SIIsR 3118, 99T (A) § I 3R

(D) (A) 37T (R) Sl IRIeR SR 307

(R) § (A) 9 Iy TqSIRIT 3T
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Choose the incorrect statement from

the following :

(A) In Indian Constitution Articles
352, 356 and 360 deal with

emergency powers

(B) American Constitution does not
expressly grant the President
powers in times of national
emergency

(C) In India emergency was
declared in the year 1975 under
Article 360

(D) In America President Roosevelt
invoked emergency during

World War II

The concept of ‘Circulation of elites’

has been used by :
(A) Gaetano Mosca
(B) Vilfredo Pareto
(C) Robert Michels

(D) Max Weber
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Tt eehrd faeam sfeen :

(A) YR TsTeedd shed 352, 356,
360 AHEA ATeTof forsreh aXgal
3TRa

(B) R ToTe-H TS STUao=
e TG TI2T0 STTRR

feoat e

(C) YR 1975 HTell hetd 360 Advid

STOfTETofl &N Sh0ATd 3TTell B

o

(D) SHI1 HEHSTAl hled AR

TeTeAe] TEAeE AT SO SfeR




10.

11.

Which among the following is an

incorrect statment ?

(A) Liberalization does not always

lead to democratic transition

(B) Democracies must meet three
basic procedural criteria :
competitive elections, adult

citizenship and minority rights

(C) According to O’Donnell there
are two transitions : a transition
to democracy and transition to

a consolidated democracy

(D) All democracies emerged after
second world war have transited
from democracy to consolidated

democracy

Collective security measures were
first applied by the UN in 1950.
Against which country were they
applied ?

(A) Cuba

(B) North Korea

(C) Vietnam

(D) Egypt

MAR - 15223/TI—A

10. Wedyesht I@RT faud fizen :
(1) SERIHIUe AgH™ v

THYU BId T8I

(8) AIRIMEHE Fral GAYd Hfsharcdeh
oY qul e ANTa ;SR

FaSuRRl, Ui ArRehd, TTTREATH

TFh

s) EHT= Hd S YhRE] ol

AT ; AIhIMEHEY Fehyul STTfUT

g3 AhYIRIhe HhdYl

(F) THA FEGSHM SeaTel 3eied 9d

IR TTTRT Se%T™ 3@ TAheEIHEA

THAT A A®

110 G T 1950 7Y dfgedal drfeeh
A TR AT <t <RIV Senfaes
LAl Bl ?

(1) =g=n

() IW I
(8) feug ™
@) 3

[P.T.O.



12. Match the following pairs using the

key given below :

Column 1

(International Organization)

(@)
b)

(c)

(d)

(1
(2)
3)
4)

Universal Postal Union (UPU)

United Nations World Tourism
Organisation (UNWTO)

Fund

Development

International for

Agricultural
(IFAD)

International Civil Aviation
Organisation (ICAO)

Column II
(Headquarters)
Montreal
Rome
Madrid

Bern

Codes :

A) (2)
(B) 3)
C) @)
D) )

(@) (®)
3)
(1)
3)

(4)

(c)
(1)
(4)
(2)
(1)

(d)
(4)
(2)
(1)
(2)
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o [a)

12. Tl

feetell g1 aTaed Irg Siedl

S[eddl ¢

(@)
®)

(c)
(d)

(1)
(2)
3)
(4)

w1
(AT Here)
Sfdes 2ared "eeAr (UPU)

IR TS SATfqeh GEied e
(UNWTO)

AL Foit faswrd feft (IFAD)

STAWRSEE A IESIT HoeAl
(ICAO)

Tt 11
(g@nm)

1578

-
-
X3

A) (2)
B) )
C) @)

D) 3)

(®)
3)
(1)
3)
4)

(c)
(1)
(4)
(2)
(1)

(d)
4)
(2)
(1)
(2)

10
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13. Who builds on Kenneth Waltz’s | 13. fg¥eita =ereen dgyeita sgekd="1 qoid
argument concerning the stability of At fEer 31qd, o1 HAY ey A=
bipolar system as compared to ATEuien ge JA faen fasr erefterien]
multipolar system ? IO faaRaaH &enm ?

(A) Stanley Hoffmann (A) =1 T
(B) Charles Kindelberger (B) =med foheamerik
(C) John Mearsheimer (C) S HRIE
(D) John Gaddis (D) &I Tifed

14. When did the WTO come into | 14. S SR HeAT shegl AT 3Tl
existence and where is its sfor faa qeared &g g ?
headquarters ? (A) 1095 T, S S
(A) In 1995, Washington D.C.

(B) 1993 weA, fegu=
(B) In 1993, Vienna
(C) In 1993, Seattle (©) 1993 7, gz
(D) In 1995, Geneva (D) 1995 =&A, fstfan

15. The Nuclear Suppliers’ Group (NSG) | 15. 2Tftas J@SRR <M= T (NSG) we

was formed in the year : Afqama sen ?
(A) 1972 (A) 1972
(B) 1977 (B) 1977
(C) 1974 (C) 1974
(D) 1969 (D) 1969
11 [P.T.O.



16.

17.

18.

Which of the following countries
is not a member of Shanghai

Co-operation Organisation ?
(A) China

(B) India

(C) Tajikistan

(D) Iran

Who has written the book “The Cold
War : Retrospect and Prospect” ?

(A) Lewkowicz Nicolas

(B) Hopkins Michael

(C) Frederick Schuman

(D) Bronson Rachel

Assertion (A) :

The Arctic sea route remains open

for navigation for more number of

days a year since last few years.
Reason (R) :

The ice on the Arctic is melting more
due to climate change.

Codes :

(A) Both (A) and (R) are true, and
(R) 1s the cause of (A)

Both (A) and (R) are true, but
(R) is not the cause of (A)

(B)

(&)
D)

Both (A) and (R) are not true
(R) is true, but (A) is not true

16.

17.

18.
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TITeeTieh] IVl Q¥ STETRN Heehrd
oA HHEE AT ?
(A) =M
(B) Yrd
(C) afsferem™
(D)
3 e o ; e I e
it fafea oMy 2

o ha

(A) gHifoa Fenerd

(B) ®fdfehd HEhe

(C) Thele A

(D) ST =

faam (A) :

ArehToATRal 3Tk feag Ten TR

Ul (R)

= o ¢ oY
aldle¥-sgeilgo SHllereenaic EEF)‘ S

JmoTg foded ST,

Hehdich :

(A) (A) o1 (R) S8l e 3TTed, ST
(R) T (A) ¥ FRU &

(B) (A) =7for (R) <= ssR 3Ted, U1
(R) & (A) 9 IO &l

(C) (A) 37T (R) Sl seR AR
D) (R) SR 3T, TUT (A) TSR TRl

12



19.

20.

21.

Where is the headquarters of

SAARC ?

(A) New Delhi
(B) Kathmandu
(C) Thimpu
(D) Colombo

Democratic Peace Theory is placed
under which theoretical approach of

International Relations ?
(A) Structural Realism

(B) Classical Realism

(C) Idealism

(D) Institutional Liberalism

Which tool is used to measure NGOs

social and ethical performance ?
(A) Green Audit

(B) Economic Audit

(C) Gender Audit

(D) Social Audit

19.

20.

21.

MAR - 15223/TI—A

A qEAed &S 3R ?
(A) 7ol feeeft

(B) HTeHig

(C) foq

(D) hicAsl

~ faY N o . . faY
CllenRllel RMTAa=] IHGId  HATAKRES A

TELTA HIVAT ghehHASTda Idr ?

(A) FEATHS RIS
(B) ST sT&ieeg
(C) 3TeEiaE

(D) HEACHSF IELHATAG

THetel (NGO) =1 gmifsies o Hfdes

o0

HHART
e ?
(A) =@ srherm
(B) 3Tfefeh sfeharon
(C) e steharm
(D) ISR STh &

TISTHTY 0T IO F1eH

13

[P.T.O.



22.

23.

24.

What mechanism is not used for good
governance ?

(A) Jansunwai

(B) Citizens charter

(C) Ombudsman

(D) Grievances redress system
What are the objectives of monitoring

and evaluation of public policy ?

(@)

The assess whether policies are

over or under performing

®)

To assess whether are working

as planned

(c)

To assess whether the target is

achieved
Codes :
(A) (a) and (b)
(B) (a), (b) and (c)
(C) (b) and (c)
(D) (a) and (c)
Which among the following is not
included in UNDP’s sustainable

development goals ?

(A) Quality education

(B) Poverty eradication

(C) Traditional energy sources

(D) Gender equality

22.

23.

24.

MAR - 15223/11—A

Y-V dES! HIOd 1 STl S
e ?

(A) SgTaTE

(B) A& T

(C) siigsaHa

(D) R R =ewen

Hresifeh RO SBE 9 Hedihrd
g 3fesed TRd 2

(@) ORoT=E SEAR ifusw frar w1
g T - § qurEul

(b) RO ASAER ®ERd oed 6
TE ® qurE

() =¥ | Field T @t 8 qureo
Hehdiah :

(A) (@) (0T (b)

B) (@), (b) M (c)

(C) (b) 3T (c)

D) (a) 3T (c)

@retd sivd UNDP= 39ad faehmar=n
I GHIOSS AT 2

(A) e e
(B) wRsa e
(C) URUR® el Hd

(D) feamyme FHFEa

14



25.

26.

The origin of good governance is

traced to the seminal work of :
(A) Alexis de Tocqueville

(B) Thomas Paine

(C) Robert Putnam

(D) Larry Diamond

The origin of contemporary
resurgence of interest in good
governance is credited to the

publication of :

(A) Governance and Development,

1992

(B) Governance without
Government : Order and Change

in the World Politics, 1992

(C) Making Democracy Work : Civic

Tradition in Modern Italy, 1993

(D) Developing Democracy

Towards Consolidation, 1999

25.

26.

MAR - 15223/TI—A

Y-URMTThd=Al 3§ hIV=Al IR

HEld e S ?

(A) 3T € ferfad
(B) 99 A
(C) T geid

(D) < sEHTE

Y-YUMTHRAd HHRTATT  GAGCTATAT

feed .

(A) TRTH 3f1g SBATHZ, 1992

(B) 79 foeTe i ¢ 31fET 3fue

= 31 T doe Uifaifead, 1992
(C) HfehT SHiRHT T : fafasw ISwm
g9 Hied sedl, 1993
(D) THAMF SHEHH! : THEH FHTefcIeeH,

1999

15

[P.T.O.



27.

28.

Essence of ‘Good Governance’ lies

in :

(A) Strengthening the public sector
by infusing more capital to keep
it growing

(B) of

Stringent application

POSDCORB principles

(C) Development of social capital
and networking with societal

organisations

(D) Renewed energizing  of

bureaucracy

Which aspect of good governance
is critically reviewed by many

commentators ?

(A) Social capital

(B) Aid-giving precondition
(C) Civil participation

(D) Participative decentralized

governance

28.

MAR - 15223/11—A

(A) AfHeh Aigae Yagd HelsIeh &=

Toh i hEd A JIETd Bl

<0

(B) POSDCORB dxaidt weh

STHASISITEO

(C) mmfes aisaa fawmg erfor
(D) ARLRIE qASifaa Lo
G- SRR IR S ST TR
fafercaes Thgm sa e ?

(A) TSR viedd

(B) HR™A <uar=Al Ya-3e

(C) AP G84mT

(D) Te9TTt foehfed U9mTehan

16



29.

30.

31.

Which one of the following is
historically a basic mechanism of

accountability ?

(A) Citizens’ charter

(B) Ombudsman system

(C) New Public Management

(D) Entrepreneurial management

Which scheme was launched to

provide healthcare facilities to over

10 crore families ?

(A) Pradhanmantri Jan Arogya
Yojana

(B) Ayushman Bharat

(C) Sukanya Samriddhi Yojana

(D) Pradhanmantri Jeevan dJyoti

Bima Yojana

The science of control and

communication is known as :
(A) Informatics

(B) Hermeneutics

(C) Logistics

(D) Cybernetics

29.

30.

31.

MAR - 15223/TI—A

IR Wfdeifasgsean weiieaieht
FHIA JAYd A AT ?

(A) ARG TS

(B) 3AiIg@H =aed

(C) 7EH ol I

(D) SESThT LTI

ST HIgd AR FHgAAl STREIHET

gfaar gfauamgrel sIvt S n]
Tl ?

(A) TUFEST SF STRTE ISl

(B) STICHNE YRd
(C) g |ggl ASH

(D) FEHT S SIdt STHT IS

o enfn §g=a A=A e

Y U
(A) HfEdoTe

(B) steffolem v

(C) THRMEH

(D) HemTeR e

17

[P.T.O.



32.

33.

Who among the following scholars

did not advocate the concept of New

Public Administration ?

(A) Dwight Waldo

(B) Frank Marini

(C) Peter Self

(D) Fredrickson

Give the correct answer by using the
codes given below :

Assertion (A) :

There is no any marked difference
between public and private

administration.
Reason (R) :

Both are conducted according to the

same principles.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

32.

33.

MAR - 15223/11—A

EITATAdeh! HITTA] STSITHRT Tl

RYIMEATT QRN hall @l ?
(A) TIEE dreE

(B) % Af

(C) diX Heh

(D) FSRehd

el HehdiehT=l aT hed I I
fagam A) :

HTESTTeh YR AT WISt 99 3T
DTS 3Bk ST Wik Rl

T (R) :

T FEER/HRYX. FHF TR
=TeAd!.

W :
(A) (A) 271 (R) ® 81 T@=I901 sRIeR

3T (R) § (A) o SRR TSR
3

(B) (A) =71 (R) ¥ Toa=aol sRIeR 3Ted
T (R) B (A) 9 I7Y TIEIRIT]

Rk
(C) (A) R 3T 901 (R) ¥ IF T
(D) (A) =% &8 90 (R) ® SR 318
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34.

35.

The concept and program of Citizens’
Charter was first initiated and

launched in :

(A) UK

(B) USA

(C) Sweden

(D) Canada

Genesis of Public Administration

lies in its objective of :

(A)

Management of government’s

business

(B) Making distinction between
‘political’ and ‘administrative’

activity in public organization

(&)

Making distinction between

public and private administration

(D) POSDCORB

MAR - 15223/TI—A

34. ANMCHTET g€ AT Tehouqa=l ATOT

FHEGHATET YUH gEAaW ST STHA-

35. CARUEANE Hoo &=l Yeid e

AR

(A) TEHRT FHEATE HEATIH

(B) grasifies HAdE ‘TSR’ 9

‘TR hTEHES Tleh hiul

(C) Fresier d @TsTt YIS Hidh

Exull

(D) POSDCORB
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36. Match List I (Theorists) with List I

(Arguments) and select the correct
answer from the codes :

List I
(Theorists)
(@) Evan S. Banki
(b) E. N. Gladden
(¢) Henri Fayol
(d) W. F. Willoughby
List II
(Arguments)

(1) The true realm of Public
Administration is to be found in
the administrative sectors of
government which conduct
management of public affairs

(2) Administration must not be
confused with government. It is
only one of its functions.

(3) In its broadest sense it denotes
the work involved in the actual
conduct of government affairs

(4) Administration means
performance of executive
function of the state

Codes :

(@ B) () (@
A 1 @ Q) @
B @ 1 @ A
< 3 @ @ @
D 2 & @O @

MAR - 15223/11—A

36. ¥l I (fa=amea) suftr act 11 (Ffrar)

A=A e AT ST FehdlehHYT A

IW Herer .

(@)
)
(c)
d)

(1)

(2)

3)

(4)

arer 1

(feremiaa)
3. T, Toted
ER IR

RICI i |

QIESEIC)
AHYIMEATE R &F  IMEATA
YR &5 3R S Hrelsiieh

T SHIEIT Hhid.

A 9 YIIMTEE IreATd TToatd sl
HM . WET § IO Shdes
TH HE e

Yk A ATRIIMET  ITHAT
Td HRYREE U ST
g el Y S

IIMET RS ST SRR
T STHASSIIIO 3.

- -
-
-

(@ b)) @ (@@

@A 1 @ @ @
B) @ @O @ O
© 3 @2 @ @)
D 2 & @O @
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37. Give the correct answer by using the

codes given below :
Assertion (A) :

The chief objective of Public
Administration is to provide easy
and hassle-free access of its services

to the citizens.
Reason (R) :

Citizens’ grievances can be easily
redressed if there is face to face
contact between citizens and

administration.
Codes :

(A) Both (A) and (R) are individually
true and (R) is the correct

explanation of (A)

(B) Both (A) and (R) are individually

correct, but (R) is not the correct

explanation of (A)
(C) (A) is true and (R) is false

(D) (A) is false and (R) is true

MAR - 15223/TI—A

SN

37. @rdl feded =g Irg W e

fagam= ) :

AR IR T 3e¥ ARTRER AT Hes

o STeRfEd Te SuTsy hiUl B TR

T (R) :

IR AN o Y9I A=A SHREHRE

Tk 3T T ARTHR AT dehTia e

el B IR
PO

(A) (A) 3T (R) § T8t Tl SRIET

A (R) T (A) o SRER TIHI
e

(B) (A) 31for (R) & ToasIqol sRIsR 37

T (R) ® (A) ¥ I TR0l

BRI
(C) (A) SRR 3T M (R) § I 3T

(D) (A) I AR A (R) B U 37
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38. Public Administration has evolved 38. Q,1|c|,,9|3||{~|.-||qﬂ| oﬂ(-q-(-ﬁ CHERIED duaqiq\qu

through various stages. Arrange the

el offe. @elld W TIhAM ol .

following stages chronologically :

(1) dwren gfesA

(1) Principles Approach
(2) Public Policy Approach (2) WESfTR SR gfee

(3) Administrative Behaviour

(3) RIS Ta9arel gieeehd

Approach
(4) TSTHIG-TIEA 55

(4) Politics-Administration

Dichotomy ) ] 1 gl
(56) Ecological Approach Hehdish :
Codes :

@A @ @O 6 G @

@A @ @O 6 G @
B) @ DO @ @ ©6)
B) @ DO @ @ ©6)

© @ @O @ 6 @
© @ @O @ 6 @

M @ 2 G @O @ M @ @ G @O @
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39. Match List I (Thinkers) with List II
(Definitions) and select the correct
answer from the codes :

(a)
(®)
(c)
(d)

(1)

(2)

3)

(4)

List I
(Thinkers)
F. M. Marx
L. D. White
D. E. Marshall
J. M. Pfiffner
List II
(Definitions)
Public Administration consists
of all those operations having

for their purpose the fulfilment
or enforcement of public policy.

Administration is a determined
action taken in pursuit of a
conscious purpose.

Administration is the
organization and direction of
human material resources to
achieve desired ends.

Public Administration is the
fulfilment or enforcement of
public policy as declared by the
competent authorities.

Codes :

(@ b)) (@ (@
A @ 2 G @
B 2 O @ 3
o 1 @ 3 @
D & O 2 @

MAR - 15223/TI—A

39. =t I (fommaa) sufor 9t I (=)
I AT Hes HT[d @efiel Hehdrehid

IR e I I Haer .

(@)
)
(c)
(d)

(1)

(2)

3)

(4)

et 1
(faemaa)
TH T "
T . w®Ee
2. 3. A
. T fRER
et 11
(=aTE)
TARIRIEA STR1 He Shefl o FHrl

@Y HAT STGl, SAEl S
gt eionsEt qdar fean
AT HIO BT ST

SUifegeeh 3= AT<AEme! sholel

(alla

T Ffy=a Fdt s Bors J9mEd
B

arofera Sfeserea gr=Eet seid
qeet 9 oifder G Tued o
feyE WUN YITEE 8.

TeH SR ARR el
HreSIfen HIT= eidl fehall shriare]

BUNSI AIRYIIET .

Hehdich :

(@ B © @
Aa @ @ @ @
B @ @O @ 3
e o @ @ @
M @) @O @2 @
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40. Give the correct answer by using the

codes given below :
Assertion (A) :

Government administration differs
from all other administrative work

by virtue of its public nature.
Reason (R) :

Private administration does not
have any great responsibility

towards the public.
Codes :

(A) Both (A) and (R) are individually
true and (R) is the correct

explanation of (A)

(B) Both (A) and (R) are individually
correct, but (R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAR - 15223/11—A

40. Tl Hehdishial aTd & AT I

aer
fagm™ A) :

MR G SO JRIEATIRA =1

qESeh el hHA GO

EUCECE

%uT (R) :

@S YA AThTIdl ISl STereer]

T

'Ff?:ﬁﬂ'ﬁﬁ :

(A) (A) 37T (R) § T8t Tl SRl
3T (R) ® (A) ¥ SRR TSR
3T

(B) (A) =7fo1 (R) ® Sal S99l sRIeR
3Ted 997 (R) T (A) = AT TSR0l
BN

(C) (A) R ¢ 99 (R) T I 3T

(D) (A) = & 90 (R) ® SR 318
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41. The policy of apartheid chiefly | 41. T&x avigo™= ROl ®™ AHRA ?
denies :
enies A) -
(A) Political equality
(B) TGS THT
(B) Legal equality
(C) HHIfSIeh FHaT
(C) Social equality
D) sTfde FHar
(D) Economic equality D)
42. The ‘three-dimensional’ account of | 42. &= Tt Fheqm Fvit A ?
power was given by :
(A) == =y
(A) Steven Lukes
(B) Robert Dahl (B) T e
(C) Peter Bachrach and Morton (C) e afor | TR
Baratz
(D) a9 et
(D) Michel Foucault
43. The traditional concept of justice is | 43. WA ™ Fheq1dl 9r&T Hivmal
based upon : A ?
(A) Social (A) GRS
(B) Political (B) TSThA
(C) Ethical (C)
(D) Material or economic (D) difaer fower smfefw
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44. Marx’s concept of justice demands :

45.

(@) State regulated justice
(b) Abolition of class structure
(¢) Making of just laws

(d) Placing means of production

under state control
Codes :
(A) (a), (c) and (d)
(B) (@), (®), (c) and (d)
(C) (c¢) and (d)
(D) (b) and (d)
Who is the author of ‘The Rights of
Men’ ?
(A) Edmund Burke
(B) Thomas Paine
(C) John Locke

(D) T. H. Green

MAR - 15223/11—A

44, TS AT eheddd S TRUd

e ?
(@) =M FaHd soen ="
(b) o WEEE B

(c) —ar=a hraeyrEl fAfHdr

(d) SR LA Tr=a Ao
a0

Hehdich :

(A) (a), (c) 2O (d)
(B) (@), (b), (¢) 0T (d)
(C) (c) =T (d)

(D) (b) 3T (d)

45. 'T S SA® W' AT YA T@h I

e ?

(A) TSHS T
(B) omm@ I
(C) S @

D) 4. @ °=
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46. Match the List I with List II and

select the correct answer from the

codes :

(a)
(b)
(c)
(d)

(1)

(2)

3)

(4)

List I
Carolyn Merchant
German Greens
Humanist Ecologism
Ecosocialism

List II

Supports biometric equality and
upholds animal rights parallel

to humans

environment
of

capitalism’s rapacious quest

Explains

destruction in terms

for profits

Highlighted links between
gender oppression and the
death of nature

Think globally, act locally

Codes :

(A) @)
(B) 3
©) @2
D) @)

(@) ()
1)
(2)
(3)

(1)

(c)
(3)
(4)
(1)
(2)

(d)
(2)
(1)
(4)
3)

MAR - 15223/TI—A

46. oSt 13 AT 11 Sezan Tfor Teha gl

Iy IR Haer

(@)
®)
(c)
(d)

(1)

2)

(3)

(4)

RIC |
FHUAH HHeS
ST T

qe] qigftedng
ERIEICIRESEISCIC
R |

e FHAET difes ST H=al

TIRTIHETY GO Barhiel qaeH

T <8 YiSaele =l ST
THRITT BISATET=A] HeYid TUse
Hdl.

feT yrercdeh <= i fem= Txor
JreATde SERMEd el

Afvas faum, wenfs wdl

- -
-
-

A) @)
B) 3
C) 2
D) @)

(@) ()

(1)

() (@)

3) @)

2 @ @

@) 1 @

1 @ O
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47.

48.

49.

Which theory of rights best explains

its nature ?

(A) Social welfare theory

(B) Theory of natural rights
(C) Historical theory of rights
(D) Legal theory

Rousseau favoured :

(A) Representative democracy
(B) Indirect democracy

(C) Direct democracy

(D) Mixed democracy

The Lockean conception of social
contract contributed to the classical
theory of democracy. Which of the
is not

following statements

democratic according to Locke ?

(A)

The basis of political power was

the consent of the people

(B) People were real sovereign

(C) Constitutional but absolute

government

(D) Government not protector of

individual’s rights

47.

48.

49.

MAR - 15223/11—A

SRl ShIVAl THgId & 9T &%

T HE ?
(A)
(B) #wfifer worhi=n fogm
(®)

ISR Sheaurehid fagrd

ufaeiiass sanr=n faga

fa o

FrRRIR fagma

(D)
®UH HIM FAAT hed ?
(A) wfaffuss wrersmer
(B) A& TG

(C) Weael TSIl

(D) Hfagr ceRmer

N oY

NI

TR

TRt IV faeM dfehea Fargar

A EETET e 2

(A) TSTERET 90 8 Rl HHdl @l
3Tl

AlH=AT ISR hi Hehe T

o

lqa

rfvsma fagriara e

(B) &F &9 ©R HEWM

(C) TeAHS: Ul T I

(D) TTHR Alhi=aT BFhId HI&TH

THd
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50.

51.

Conservative ideology believes

that :

(@)

Human rationality is unreliable

(b)

Moral corruption is implicit in

each human individual

(c)

Human beings have limited

intellect

(d)

Reform and revolution often
lead to greater suffering rather

than less
Codes :
(A) (b) and (d)
(B) (@), (®), (c) and (d)
(C) (®), (¢) and (d)
(D) (@) and (d)

is not a fundamental

(A) Right to Life
(B) Right Against Exploitation
(C) Right to Property

(D) Right to Equality

50.

51.

MAR - 15223/TI—A

WRER! TRy o

(@) Al foder & dYRaEsmET 3TEal

(b) AAfder g=dl Yde HEE] Herdd

ERE

(c) WU TG HAifed 3Td

(d) GHRON 0T ShicHes Tew Sifeeh
[HEERE NI

Hendieh

(A) () =for (d)

(B) (@), (®), (c) 310 (d)

(C) (B), (c) v (d)

D) (a) (0T (d)

(B) SoOMforegE= STfHehR

(C) "= AR

(D) FHMdET TR
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52.

53.

54.

55.

Which one of the following is not an

inter-state dispute ?

(A) Dispute over Chandigarh

(B) Cauvery water dispute

(C) Maharashtra—Karnataka border
dispute

(D) Gorkhaland

Two members of which community
are nominated by the President to
Lok Sabha ?

(A) Tribal

(B) Minority

(C) Anglo-Indian
(D) Hindu

Article 348 (2) of the Constitution
deals with :

(A) Authorised language of the
High Court

(B) Language of the Parliament
(C) Medium of Instruction
(D) Language of the Supreme Court

Indian Constitution envisages a

(A) Quasi-Federal
(B) Federal

(C) Confederal
(D) Non-federal

52.

53.

54.

55.

MAR - 15223/11—A

EAteTUen! shivldT STasd faaremn fam™

g ?

~

(A) dfeTe IRU=T 9K

(B) el Sa foarg

(C) WERIZ-Thlesh HHER

(D) TiRErets

T Teeh! Shive FHRTATA G HiafeT
ARENd L AHMAGR hiad ?
(A) erfearEt

(B) STcUHEAH

(C) sfrer-sfeam

D) fég

AT Hed 348 (2) HEA AT SmEEl
forem grar :

(A) S=a AT GTEehd  ATe
(B) T ool

(C) forgrome Areem

(D) Tel=a =Tt

TR oed
T faem e TR,

(A) TR
(B) WA

(C) WREeRS
(D) foR F=Rr
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56.

57.

58.

Public interest litigation became

popular during the tenure of ............ .
(A) dJustice P. N. Bhagwati

(B) dJustice Deepak Mishra

(C) Justice Y. V. Chandrachud
(D) Justice P. B. Sawant

Which of the following Commissions

does not deal with riots in India ?
(A) Madan Commission

(B) Shrikrishna Commission

(C) Nanavati Commission

(D) Punchhi Commission

Which of the following is not a type
of party system ?

(A) Regional Party System

(B) One-Party System

(C) Two-Party System

(D) Multi-Party System

56.

57.

58.
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AR SRVl STANT HRATdT STTel =l
I Hid A ?

(A) HEH M

(B) #iiepoon ST

(C) AAERE ST

(D) Y& A=

WIeTieh! IVl Ue] UE=l YR
g ?

(A) IR 98 TgHd

(B) TsU& gl

(C) fgu&r ugedt

(D) =59« UgHd!

59. Who among the following is not the | 59. WIcficiUeh! IV YRAT GAYLH AT ?
Prime Minister of India ? )
(A) =RuIfE
(A) Charan Singh
B) STTsited |
(B) Jagjivan Ram (B)
(C) Chandra Shekhar (C) =IsRTER
(D) H. D. Deve Gowda (D) TE. gl el
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60. Who among the following was

61.

India’s President for two consecutive

terms ?

(A)
(B)
()
(D)

Gyani Zail Singh
Pratibha Patil
Rajendra Prasad

APJ Abdul Kalam

Which of the following statements

are

(@)

®)

(c)

(d)

(A)
(B)
(&)
D)

true ?

33% seats are reserved for
women MPs in Lok Sabha

The number of women MPs in
Lok Sabha has
consistently since 1952/First
Lok Sabha

increased

The number of women MPs in
Lok Sabha has
consistently since 1991/Tenth
Lok Sabha

increased

There are no reserved seats for

women in Lok Sabha
(@) and (b)
(b) and (c)
(¢) and (d)
(@) and (d)

MAR - 15223/11—A

AN A ~ ~ ~ a
60. refieiyehl <hI0 HeTT QST HRATH Y]

61.

=Id

?

(A) ™M SrAfET
(B) wfaw dreia
(C) INE 4Ig

(D) THS 3TsgA haH

@i hIodr faam sRie 3fed ?

(@)

®)

(c)

(d)

(A)
(B)
(®)

(D)

RTINS 33% ST Higedl WIEERI-
St e 3.

1952 =41 Ufgedr AlHEAITgH
TAHHATH Higel THGN=T Hedl

grac™ ded ATt 3T,

1991 =31 TEAT AThFHUUTHA

AR Ide Afgedl WEERI=] Tl

HAAN oad 3Tt el

ARAYT Tt SR et
ST AT

(@) 30T (b)

(b) 3 (c)

(c) = (d)

(a) 3T (d)
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62.

63.

Which of the following statements

is not true ?

(A) Women’s
sought to reserve 33% seats in
Lok Sabha and Rajya Sabha for

women

Reservation Bill

(B) Women’s Reservation Bill
sought to reserve 33% seats in
Lok Sabha and State Legislative

Assemblies for women

(©)

Women’s Reservation Bill is

passed by the Rajya Sabha

(D) Women’s Reservation Bill is

never discussed in Lok Sabha

Which of the following is not a part
of India’s policy of economic

liberalisation ?

(A) Privatization of  public

enterprises

(B) Increasing the limit on Foreign

Direct Investment in Industry

(C) Increasing the limit of Foreign
Direct Investment in Defence

Sector

(D) Increasing the minimum limit

for taxable income

MAR - 15223/TI—A

62. WIcileTishl hIvd fIaM 3@ 3”2

63.

(A) wfecracren e faseer™ e
[y A0 TEadd 33% TEd
ST Afeeree! Teia Savaret fHeht
BT

(B) dfgen AR faggem drepasn

sty e faumEaaHe) 33%
qEitel S SavareE! gfieht Sdet

(C) Hfge R0 faderes Tsaqaq T9q
el 3R

(D) Afgen 3TReU fagahER dARayd
HUEl == Al A8l

A TeTdeh] ShITTAT TS WRAT=AT 3R
IS0 GROM=T W AT ?

(A) TSR SETaeaT SENTE WISTIsh Lol

(B) JTNTqed 92 WM Tderofenl=t
ERIHECICCR]

(C) TREIU &ae 9 QR et
TIieT arean

(D) HAT Icq=T=n fRA™ "Il

el
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64.

65.

66.

The Planning Commission of India

published ‘India
Development Report 2011 : Towards

Human

Social Inclusion’. It studies :

(@) Relationship between Asset

Ownership and Poverty

(b) Condition and Challenges

regarding Nutrition
(c) Status of Child Labour
(d)
(A)
(B)
(C)

(D)

Status of Irrigation Projects
(@), (¢), (d)

(@), (b), (d)

(@), (b), (c)

®), (), (d)

Which among the following is not

a social movement ?

(A) Chipko Movement

(B) Narmada Bachao Andolan
(C) Asom Gana Parishad

(D) Bandhua Mukti Morcha

Politburo is the highest decision
making body of ................. .

(A) Congress
(B) Bhartiya Janata Party
(C) CPI (M)
(D) Bahujan Samaj Party

64.

65.

66.
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AT ST SN TR Sheled] ' 91
qHa foehd st@aTa 2011 @ HHISR
FHEEYERE ¥R’ A1 e geid
Tl 3T el A :

(@)

T HIeTeh! ST TG i
TEHIY

oo feordt & rEeHe e
SRS feerdt

STEHHRO Yeheural feerdt

(@), (c), (d)

(@), (b), (d)

(@), (b), (c)

®), (), (d)

)
(c)

(d)
(A)
(B)
()
D)

AR ShITT! TSI He3des ATal 2

(A) TageR! STcIeH

(B) THe1 d=ma e
(C) T9H TUTYEE
(D) §g3T HeRit A=l

(C) HAeRiaRl e Tl
(D) SgsH 9ANS Ul
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67.

68.

69.

Which one of the following is not a

primordial identity of a person ?
(A) Caste

(B) Religion

(C) Citizenship

(D) Language

The Rajya Sabha has exclusive
jurisdiction in :

(A) Proclaiming emergency

(B) Creation of states

(C) Election of the Vice-President

(D) Authorising the Parliament to
legislate on a subject in the
State List

Which of the following Directive

Principles of State Policy was added

later to the Constitution ?

(A) Organisation of Village

Panchayats
(B) Prohibition of Cow Slaughter
(C) Free Legal Aid

(D) Uniform Civil Code

67.

68.

69.
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TeiTeTdeh] IV SHKial STfeH STed
& ?

(A) ST

(B) =

(C) AT

(D) «ren

TSIEYT WA sl 3T ST Rars

(A) SATOTETOM= SISO =hYot
(B) e Tsaren fAfdt
(C) SHTSZUcT=t IREEVED

(D) FHGe TSRl Tarman fosEmer
HTIS] TAAUATEIIS! GTfeehd vl

ETATAUeh! IV ARGk dxal=l HHTeIST

A S HL0Ad AT 3T 2

(A) UM G A

(B) Tiecder aigt

(C) HI%hd HIIRIR Hed

(D) UM AR HEE]

35

[P.T.O.



70.

71.

72.

73.

Which of the following lists is not

included in the Indian Constitution ?
(A) Union list

(B) State list

(C) National list

(D) Concurrent list

Who said, ‘Head of the government
and Head of the state are twin
brothers ?’

(A) Kabir

(B) Barani

(C) Swami Vivekananda
(D) Periyar

Barani’s book, ‘Tarikh-i-Feroze
Shahi’, deals with which subject ?

(A) Theory of origin of state

(B) Duties of the Muslim king
(C) Advice to the Muslim king
(D) Relationship between king and

subjects

Who said that political theory as a
theory, in ideal terms, is dispassionate
and disinterested ?

(A) John Rawls
(B) Andrew Hacker
(C) George Sabine
(D) David Held

70.

71.

72.

73.
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WICATCTIhT IO = TR SR
R

(A) &g g

(B) T g

(C) TdE =

(D) wHedt gt

TTEATE Y@ S TS e ¥ e
I 3ed’ 3T I BT ?

(A) X
(B) =T
(C) @t T4
(D) URER
SR ek aRE-U- RISl el
IO TS ==l hIvad STt 3Ty 2

- .
CEAEH

(A) T=r=1 e fag=

(B) HRem TST=H Hhde

(C) A Ten faeten Heen

(D) TS AT Yol AT Gy
‘Tetenta fagia Seel Wt FEmEE W
;ﬂ;ﬁﬁaﬁwmz%wﬁw

(A) ST UeH
(B) 3fg T
(C) ifst g
(D) efws s
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74. Who among the following used the | 74. et il AR Tehed-=
expression ‘forced to be free’ in Tl  TIEer S’ @ Ieg T
connection with the notion of liberty e ?
of the individual ?

(A) &9
(A) Rousseau

(B) Ik
(B) Locke
(C) Green ()
(D) Hobhouse (D) BeRTSd

75. Who among the following made the | 75. ‘T & Jfqer o erEcrett Afds Twen
state a moral institution with a R, 3TY WIeAAIUeh! iU W 3R ?
moral end ? -

(A) 9gH
(A) Bentham
(B) Hfwareset
(B) Machiavelli
. (C) = fHa
(C) James Mill
D) J. S. Mill D) 3. w§ 7
76. Who proposed that power consists in | 76. HMHf&® FHdld Fl FATS A, 34
collective action ? Jfaaed Ivit & ?
(A) Hannah Arendt (A) & 3fe
(B) Jurgen Habermas (B) ST SERA™
(C) Max Horkheimer (C) Y9 BRI
(D) Max Weber (D) HaT deR
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77.

78.

79.

Who wrote the book ‘What is to be

Done’ ?

(A) Plekhnov

(B) Marx

(C) Stalin

(D) Lenin

Who emphasized on the role of
consciousness instead of material

forces among post-Marxist thinkers ?
(A) Antonio Gramsci

(B) Lenin

(C) George Lukas

(D) Trotsky

Who addressed the problem of why
women are oppressed in ‘The Origin

of the Family, Private Property and
the State (1884) ?

(A) Karl Deutsche
(B) Fredrick Engels
(C) Susan Moller Okin

(D) Althusser

77.

78.

79.
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‘=gle 31 2 ol &' ¥ g&deh il fafead ?
(A) =il

(B) HrR

(C) Efer

(D) wfH

ifereh STRITIeT STforer=AT fHehar shiore

3o HEHaR] faemeaq W feen ?
(A) sT=arell TTHet

(B) @fH

(C) SISt qeprd

(D) il

‘fo ftfsm o wfael, waeee gfuet
3fe T W2 (1884)' AN Y& Afga™
TISOT ST B 2 & qHET hIvi qieed 2

(A) wTel AR
(B) el Tsew

(C) g HIer 3k

(D) TR
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80.

81.

82.

Who wrote the book ‘The Subjection

of Women’ ?

(A) Marry Wollstonecraft
(B) Hayek

(C) Iris Young

(D) J. S. Mill

Apasthamba, Gautama, Vashishta,
Baudhayana are the

Of coviveeeinn .

names

(A) Ancient Republics

(B) Snataka

(C) Dharmashastras

(D) Mahayanas

Which of the following statements

is incorrect ?

(A) Dharmashastra texts were

authored by a single author

(B) Dharmashastra texts enumerate

sources of Dharma

(&)

Dharmashastra texts present
their ideas under the categories

of
Prayaschitta and others

Acara, Vyavahara,

(D)

Dharmashastra are ancient law
books of Hindus

80.

81.

82.
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‘g™ S® g’ ® IS (i
fafeet 2

(A) A8 JALARTR
(B) =&

(C) STEE =

D) S . fua

Y, T, I, SGAT & hem=]
A eTRd ?

(A) 9EH TR
(B) Erdsh
(C) Y=

(D) #HEM™

Wrefleien! 3 Erg faum slesan :

(A) YIS TehTa A fafgel smmed

(B) yHemEHed ymiE Hid fove o
TR
(C) YHeTETe foem Erefid Sidehiard

LN N
fovE ol 3T&d; TR, EER,

JAEd ST 3

(D) w¥eme fegean WA SR
Hfed afed
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83.

84.

85.

Who put forth the concept of “Total

Revolution’ ?

(A) M. N. Roy

(B) B. G. Tilak

(C) Jayaprakash Narayan
(D) Dr. B. R. Ambedkar

In Ram Manohar Lohia’s
Saptakranti, which among the

following is not included ?

(A)

Revolution for equality between

men and women

(B) Revolution against racial as well
as political and economic
inequality

©)

Revolution against arms and

amunitions
(D)

Revolution against migration

In which book Mahatma Gandhi has

made a critique of modernity ?

(A) Satyagraha in South Africa
(B) My Experiments with Truth
(C) Hind Swaraj

(D) Anasaktiyoga

83.

84.

85.
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YU Shid= HehedAl iU AISel ?
(A) TH. . 1T

(B) . Sff. feesh

(C) SAYRIRT TR

(D) . . 3. 3ToSHT

AR Ao Tehided qeraden!
I T GHERT B A 2

(A) S q&9 qHAES idl

(B) difyTeh a8 TSiehig o affefer

fooma faieama shidt
(C) T oMo qr&iien fa&g idl
(D) ey fadiena shidt

HETCHT T ehToTea T&iehid TEffehder
feemt hefl omg 2

(A) <o snfhendial HeATUE

(B) Hi&l Heare WA

(C) fée =

(D) STAHeRIAN
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86. Choose the incorrect statement from | gg wEeficiieal 3T faum sieen :
the following :
(A) Rabindranath Tagore was the (A) UogMy 2FR Tegamere 9ede Bid
champion of Nationalism (B) SETeeT JeE teavieR RIeuER
(B) Jawaharlal Nehru was the Ee
architect of Panchasheel
(C) Ram Manohar Lohia put forth (C) THEARR clifea Sreen s
the concept of Chaukhama . N
State Hdeh Y-l HisAl
(D) Dr. B. R. Ambedkar wrote the (D) ‘feg far=h 3=t 9 '™’ § g
g\(l’grl;’ez?ise and Fall of Hindu . JERe STeeHU fafed
87. Match the pair using the codes given | 87. TTcild F=N I H&A T ST
below : ol @
List I EICU |
(@) Mohammed Iqgbal (@) FEHS ST
(b) Jawaharlal Nehru (b) SO E®
(¢c) M. K. Gandhi (¢) TH. . TR
(d) V. D. Savarkar (d) fa. . gt
List II et 11
(1) Discovery of India (1) fewresl 1w sfean
(2) Mazini Charitra 2) #Hfert =Rz
(3) Idea of Pakistan (3) UIfeh&aT=l SHegl
(4) Satyagraha in South Africa (4) Tfeqor oTftRehdlcl TR
Codes : Hehdieh :
(@ b)) () (@@ (@ B () (@@
A 1 2 @ 3 A @O 2 @ 3
B 2 @ 3G @ B 2 @ 3 @
< @ 2 QO O < @ 2 QO 3
D & 1 @ @ D & 1 @ @)
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88.

89.

90.

Sri Aurobindo use to write in which
newspaper ?

(A) Induprakash

(B) Karmayogi

(C) Deccan Herald

(D) Deenbandhu

In the Jayaprakash Narayan’s
concept of Sarvodaya which is the
last ‘daan’ after Bhoodan, Gramdan,

Sampattidan ?
(A) Grahadan
(B) Jeevandaan
(C) Putradaan
(D) Kanyadaan

Who among the following is the

adherent of syncretic culture ?
(A) V. D. Savarkar

(B) Deendayal Upadhyaya

(C) Kabir

(D) Muhammed Igbal

88.

89.

90.
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st srefeel wIvrea adaETd fefgd

T ?

(A) TR
(B) wHART

(C) Shd Tee
(D) feey

STYRTYT TR0 I Haied Hohodd

S, UTHEH, HORIGH I I SH

AT R ?

(A) &M
(B) SfereH

(C) I

(D) AR

TIelieren! v Ty T&pde gl
Bld 2

(A) fa. T |EEHt

(B) feearet sweam

(C) sk

(D) TEHE ST
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91. Andre Gunder Frank and Marta | 91. 3% TGX Wheh 0T Wefi WU AT
Fuentes have written the famous fafeeren wfag fey
article : T o )
A 3 Hied HgHeq
(A) Nine Theses on Social @)
Movements (B) = 9N HegHeq
(B) New Social Movements (C) Tt *-Lo'é*-id ¢|o|sfH\‘q’ g
(C) Cyclical Movement towards the T folg oife g ,ios,:l' T —
Eternal : Nine Theses of Social & B
Movements—A Critique
(D) Essays on New Social Movements (D) TES 3 =] RIS qeHE
92. Which of the following statements | 92. WTciiaiyeh! HIvd faam =9 omRa ? Ie
are wrong ? Choose your answer feeied geiqa s feen ¢
from the codes given below : .
(@) TSR 19241 Ycehld AT T
(@) Nationalism transformed .
Europe in the 19th Century
(b) Nationalism led to the formation (b) AR A T T
of new nation-states in Europe frrmfor g Bl
(¢) Nationalism fragmented (c) TARM U Tohe FTl
European empires
P P (d) AR B FereTer fHeeiet Jfgarr
(d) Nationalism was an intellectual ot St
reaction to the Enlightenment
Codes : :
B) ), (), (d) (B) (), (o), (d)
(C) (a), (b), (c), (d) (C) (a), (b), (c), (d)
(D) None wrong (D) Tehel g Rl
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93.

94.

Who for the first time separated the

terms ‘Civil Society’ and ‘State’ ?
(A) John Locke

(B) Thomas Hobbes

(C) G. W. F. Hegel

(D) J. J. Rousseau

the

Chronologically organise

following revolutions. Choose your

answer from the codes given below :
(@) Russian Revolution—Bolshevik
(b) French Revolution

(c) Chinese Revolution

(d) American Revolution

Codes :

(A) (), (@), (c), (b)

(B) (), (b), (a), (c)

C) (@), (d), (b), (c)

D) (), (), (@), (@)

93.

94.
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‘T’ g AT "HIS A1 WY Wl
Hald UIH kI hell ?

(A) SH @i
(B) om\9 glss
(C) Sit. e, Th. B

(D) < <R B

TTeTd i SRIATIhATTER T
HU. g2 feeiedn geiqa gae S
IEEEINE

(@) IEA TThA—esiaeh
(b) Hd TSHehIdl

) Tt T~gsm

(d) STHREA TN
Hehdich :

A) (), (a), (c), (b)
(B) (), (®), (a), (c)
©C) (@), (d), (b), (c)

D) (o), (b), (d), (@)
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95.

96.

97.

Which of the following factors
are not conducive to judicial
independence ?

(@) Secure tenure of Judges
(b) Separation of powers

(c) Executive intervention
(d) Legislative intervention

Choose your answer from the codes
given below :

Codes :

(A) (@), (B), (c)

(B) (), (c), (d)

(C) (a), (b)

D) (), (d)

Which of the following is not a civil

society campaign ?

(A) LGBT Rights

(B) Save Marathi Schools

(C) Narmada Bachav

(D) Swachh Bharat

Which of the following are not the

functions of political parties ?

(A) Management of succession to
power

(B) Obtaining popular consent to
the course of public policy

(C) Nominating candidates for
elections

(D) Aggregation of the demands of
interest groups

95.

96.

97.

MAR - 15223/TI—A

TTATAdh] RISk FTITAS T

QAR SIhd ATEda 2

e feeten Eiq 9ma s e .

(@) =arEnedemen e dar wemast
(b) g faursH

(¢) FHEFR Heeoral ey

(d) Tafergemn e

Hehdieh :

(A) (@), (b), (c)

(B) b), (c), (d)

C) (@), (b)

D) (c), (d)

WA hIv STREM AT HST
A 2

(A) TASEE. R

(B) AU I ar=rel

(C) 1 s

(D) W= 9d

EeteTdeh! hIUd TSTehIE TS hTH
e ?
(A) TOIAUD SHAEATTT H0]

(B) HraSi{qer &iROMe @il GHd
fryezar

(C) TISUIERE SHEAR AHIRT 0]

(D) feagsel o= ANTIa™ Tehsliehivl

HLO
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98. Match the following groups in List I

with the type of their organisation
List II :

(@)
b)
(c)

(d)

(D
2)
3)

(4)

List I
Anti-corruption movement
All India Kisan Sabha

Federation of Indian Chamber

of Commerce and Industries

(FICCI)
Green Peace

List II
Associational Interest group
Lobby

Non-associational interest
group

Pressure group

Choose the correct answer from the

codes :

Codes :

A) 3)
(B) 4)
©) @
D) @)

(@) (®)
(4)
(2)
3)

(1)

(c)
2)
(1)
2)
(3)

(d)
(1)
3)
4)
4)

MAR - 15223/11—A

o

98. et feete It I |elld e o el 11

el = oAl YhR A=A SISl

M@ T e ehdiehid A el

aer

(@)
®)
(c)

(d)

(1)
(2)
3)
(4)

et 1

YR O dodes

AfEd R fmam g

HeWH A SfeaM dad 3 HiFg
e a9

et 11
e feagadt e

Sicil

A-TEATHS TEa@ee e

<dd 12

- -
.
.

A) 3
(B) (4)
©) @

D) (2)

(@ b)) @ (@

4) 2 @

2 @ @O

3 @2 @

1 G @
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99.

100.

Choose the incorrect statement from

below :

(A) American Constitution is very

rigid constitution

(B) American Constitution was

drafted at Washington

(C) American Constitution did not
provide for Judicial Review, it

was incorporated in 1808

(D) The first 10 amendments to the
US Constitution make up Bill

of Rights

Who said, “The governing class
justifies its actual exercise of power
by resting it on some universal

moral principles” ?
(A) Gabriel Almond
(B) Mosca

(C) Trueman

(D) David Easton

MAR - 15223/TI—A

99. Weliciush! Tehra faum sfia@En :

o [a)

Nes N
SHHRehd|

(A) TTEEAT 3Td Il AR

o o

Nes N .
SR ToTeeAT aif¥red I9 TR

(B)
0T 3Tedl

faS

a1
AfceieRT= TRqe eadl, 1808 AL

M THEY ATl

(o) Sl USTEEAd  —ATATAI

(D) 7= TsIeead ufgean 10
o8N LY o
FCAIGERIGR BFhTd] T HATIE
HLOIT ATA

100. ‘ g o, T T A9 9HYH

[a) o N

% I SR

3
ol

SR

sEar’’, ® faum womE smg ?
(A) TifseTa afeHe

(B) Hreeht

(C) T

(D) e s&=A
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ROUGH WORK
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